REFE H/MiE19-31 P1
SHxTETA168
IKEER IS

REREGROBHMLE
THTETA16B RN/ NEDRFEAEEZRELEL-O T, HREEMOELET,

BR
BRNOIBIEL. KE25~28°C. 155 10~31, BEHBES05~12meg/ITLT =,
ﬁﬂﬂr—fiZ'\'SmT ﬁi@@jw 7‘ Jﬁt_lvr /wwvﬁb\ﬁﬁmﬁhiu_

KBEES (F1-2)
EROBREL. KiB24.7~276°C. 1£5104~31.3TLT=,
AIEIFAER (R1.7.11) LB LT, KEBEIEIRENS2MERUVERE T04~46°CERL. 5mET0.4
CTFHBLELE, EREREND2METIS~19ERL. I0mBTO2 TFEELT -,

BHEBRFEE(X3)
AFEEBEE05~115mg/ITLT=,
BIEIFAER (R1.7.11) B LT, RET2.6mg/IIEML. 2mEHSERE T0.4~1.6mg/IJFLEL
1=,

ERAE- TS50 (R4+5)
B ($1.7~2.TmTLI=,
RIEOHER. AEEDAL=_T =

17.000cell/mif 2 éfrébiu;o

BOEEA, REOREBICFZPERICERLKE, ROE2=RyYMRMLICSEBKEZRTGEL
T, KERBRGEN P RIGEFEAMETEBL TSN,

JKEL/NEIRT

PN ®

BEEHQ

K
gB/ov|L 8 b
wE | [Eemon|

BREENERShSMREE

HALZTIXERM: HE~E T cells/mlI (BRFEFDALVIE)
2y bS8 10~ 100cells/ml (EEA~LVEE)
“4rS5F 9 L& 100cells/ml~ (EEEL D EAL)

T ADFAHE :3,000~cells/ml (FEBD~LVFE)




P2

i SHTETIAR168
RIEREREROKER-EH-TI2I00%)
=1 JKE(°C)
48 T 44 BIEIFAZE(/11)
AEMA | hERET | B/OV e KEE | KEEE | 0T | ey | BTEIEDE
.>-< [,,“iﬁ:Fié] P e
5 [B] —gi[al|
Om 275 271 27.6 27.2 26.9 27.3 22.7 4.6
2m 26.0 25.9 25.3 25.3 25.2 25.5 24.6 0.9
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B-1m 25.2 24.9 24.8 24.7 24.8 24.8 24.4 0.4
=2 EH
48 T 44 BIEIFAZE(/11)
AEMA | hERET | B/OV e KEE | KEEET | 07 | ey | BTEIEDE
.>-< [,,“iﬁ:Fié] P e
5 [B] —gi[El|
Om 12.7 104 15.7 11.3 15.6 12.5 10.7 1.8
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